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Run 4606 quartetwise, posH(O: Beam DH

Laser ON Entries: 2640 Entries: 810 aam1_1ach._pacHo
Mean: 11.4472 - 0.0050 Mean: 7.2529 «- 0.0058 810
Laser OFF Std Dey: 0.2558 +- 0.0035 | Std Dev: 0.1686 +/- 0.0042 7.253
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Run 4606 quartetwise, asymOsub: Beam ON
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—— Laser ON Entries: 2640 Entries: 810
Mean: -15.6760 «- 0.7160 | Mean: -2.3658 «- 0.5885
Laser DFF Std Dew: 36.7880 +/- 0.5063 | Std Day: 25.5880 +/- 0.6360
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Run 4606 quartetwise, negHO: Beam DIN

aami_lazl nagHD

Mean: 7.2730 +/- 0.0061 810
Std Dev: 0.1741 +- 0.0043 7.273
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I LEEE[ DN Entries: 2640 Entries: 810

— Mean: 11.5808 +- 00052

100 __ — Laser OFF Std Dew: 0.2663 +/- 0.0037
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-------- Histogram Vars

Positive Hel (ON): 11.447163 +/- 0.004979
Negative Hel (ON): 11.580781 +/- 0.005182
Positive Hel (OFF): 7.252895 +/- 0.005923
Negative Hel (OFF): 7.273009 +/- 0.006117
-------- Sums and Diffs

On Diff: -0.133617 +/- 0.006089

Off Diff: -0.020114 +/- 0.007647
On Sum: 23.027944 +/- 0.008137
Off Sum: 14.525905 +/- 0.009301
-------- Asymmetries
On Asym: -15.715928 +/- -0.716602 (ppt)
Off Asym: -2.365831 +/- -0.899459 (ppt)
-------- Bkgd Subtraction

BkSub Sum: 8.502040 +/- 0.012358

BkSub Asym: -13.350097 +/- 1.150020 (ppt)
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Run 4606 quartetwise, posHO vs time
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Run 4606 quartetwise, asym0sub vs time
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Run 4606 quartetwise, negHO vs time
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12

10

=

20 40 60 80 100 120 140 160 180 200
Entry$

Run 4606 guartetwise, bcm vs time
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